7w Bl B ifi3&x Full Load Current Chart unit:Amp
3 PHASE - 50Hz
HP Pole Kw RPM kg 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V | 480V | S75V | 660V
1/4 0.18 1420 1.87 1.80 1.7 1.63 1.56 1.08 0.98 0.94 09 0.85 0.81 0.78 0.65 0.57
12 0.37 1420 13 220 212 2.0 1.91 1.83 1.27 1.16 1.1 1.06 1.00 0.96 0.92 0.77 0.67
1 0.75 1420 16 4.0 38 36 34 3.3 23 2.1 2.0 1.9 1.8 1.7 1.65 1.4 1.2
2 L5 1420 22 69 6.7 6.3 6.0 5.8 4.0 36 3.5 33 32 3.0 29 24 2.1
3 D 1430 30 10.2 9.8 9.3 89 8.5 59 5.4 %5 49 4.7 44 43 36 31
5 3.7 1430 38 15.8 152 14.4 13.8 13.2 9.2 8.3 79 76 33 6.9 6.6 55 48
15 4P 5:5 1440 65 24.0 231 21.8 20.9 20.0 139 12.6 12.0 116 10.9 104 10.0 83 7.3
10 ) 1440 73 32.8 315 29.8 285 213 189 17.3 164 15.8 14.9 14.3 13.7 114 99
15 11 1440 120 46.6 448 42.4 40.6 38.9 21.0 24.5 233 22.5 212 203 19.4 162 14.1
20 15 1440 150 63.8 61.3 58.0 55.5 532 36.9 33.6 31.9 30.7 29.0 21.7 266 222 19.3
25 18.5 1440 180 78.1 75.1 71.0 679 65.1 45.1 41,1 39.1 37.6 35.5 34.0 325 272 23.7
30 22 1440 220 91.3 87.8 83.0 794 76.1 52.8 48.1 457 44.0 41.5 397 38.0 31.8 21.7
40 30 1440 240 | 1232 | 1185 | 1120 | 1071 | 1027 | 712 64.8 61.6 59.4 56.0 536 51.3 429 373
1/4 0.18 940 13 1.98 1.90 1.80 1.72 1.65 1.14 1.04 0.99 0.95 0.90 0.86 0.83 0.69 0.60
172 0.37 940 16 3.19 3.07 2.90 277 2.66 1.84 1.68 1.60 1.54 145 1.39 1.33 1.11 0.97
1 0.75 940 22 5.1 49 46 44 42 29 L 25 24 23 22 21 1.8 15
2 1.5 940 30 8.5 8.1 1.1 74 7.1 49 4.5 42 4.1 39 37 35 29 26
3 22 940 38 116 11.1 10.5 10.0 9.6 6.7 6.1 58 5.6 53 5.0 4.8 40 3.5
5 6P 37 940 65 18.7 18.0 17.0 16.3 156 10.8 9.8 9.4 9.0 85 8.1 7.8 6.5 5.7
75 55 940 73 275 264 250 239 229 159 14.5 13.8 13.3 12.5 12.0 115 9.6 83
10 75 940 120 36.3 349 3.0 31.6 30.3 21.0 19.1 18.2 17.5 16.5 15.8 15.1 12.6 11.0
15 11 940 150 51.7 49.7 47.0 45.0 43.1 299 27.2 259 24.9 235 22.5 21.5 18.0 15,7
20 15 940 180 73.7 70.9 &1.0 64,1 61.4 42,6 388 36.9 35.5 335 32.0 30.7 25.6 223
25 18.5 950 220 82.5 793 75.0 7.7 68.8 47.7 434 413 39.8 375 359 344 28.7 250
30 2 950 240 104.5 | 1005 95.0 90.9 87.1 60.4 55.0 523 50.4 415 454 435 36.3 31.7
3 PHASE - 60Hz
HP Pole kW RPM kg 200V | 208V | 220V | 230V | 240V | 346V | 380V | 400V | 415V | 440V | 460V | 480V | 575V | 660V
1/4 0.18 1720 1.54 1.48 1.40 1.34 1.28 0.89 0.81 0.77 0.74 0.70 0.67 0.64 0.54 0.47
112 0.37 1720 13 1.87 1.80 1.70 1.63 1.56 10§ 0.98 0.94 0.90 0.85 0.81 0.78 0.65 0.57
1 075 | 120 | 16 | 39 [ 37 | 35 [ 33 [ 32 [ 22 [ 20 [ 3| 6| 18| 17 ] 16| 3] 12
2 1.5 1720 2 6.3 6.0 5.7 55 52 3.6 53 il 3.0 2.9 27 26 22 1.9
3 22 1720 30 9.6 9.2 8.7 83 8.0 5.5 5.0 48 46 44 42 4.0 53 29
5 37 1740 38 153 147 13.9 133 127 8.8 8.0 16 74 7.0 6.6 6.4 53 46
/i) 4P f 1740 65 22 214 20.2 19.3 18.5 12.8 1.7 11.1 10.7 10.1 9.7 93 17 6.7
10 7.5 1740 73 30.1 29.0 274 26.2 25.1 174 159 15.1 14.5 13.7 13.1 126 105 9.1
15 11 1740 120 440 423 40.0 383 36.7 254 23.2 220 212 20.0 19.1 183 153 133
20 15 1740 150 58.3 56.1 53.0 50.7 48.6 337 30.7 29.2 28.1 26.5 253 243 20.3 17.7
25 18.5 1740 180 69.3 66.6 63.0 60.3 57.8 40.1 36.5 347 334 315 30.1 289 24.1 21.0
30 22 1740 220 80.3 77.2 73.0 69.8 66.9 46.4 42,3 40.2 38.7 36.5 349 335 279 24.3
40 30 1740 240 | 106.7 | 1026 | 97.0 92.8 88.9 61.7 56.2 53.4 514 48.5 464 445 371 323
1/4 0.18 1140 13 1.21 1.16 1.10 1.05 1.01 0.70 0.64 0.61 0.58 0.55 0.53 0.50 0.42 0.37
172 0.37 1140 16 242 2.33 220 2.10 202 1.40 127 1.21 1.17 1.10 1.05 1.01 0.84 0.73
1 0.75 1140 22 42 40 38 36 35 24 2.2 21 20 1.9 1.8 1.7 il 1.3
2 L5 1140 30 1.1 74 7.0 6.7 6.4 4.5 4.1 39 3.7 35 S 3.2 2.7 2.3
3 2:2 1140 38 11.0 10.6 10.0 9.6 9.2 6.4 5.8 55 53 5.0 4.8 4.6 38 33
5 SH 1160 65 16.5 159 150 14.3 13.8 95 8.7 8.3 8.0 1.5 7.2 6.9 5.7 50
15 6P 55 1160 3 27.0 259 24.5 234 225 156 14.2 13.5 13.0 12.3 11.7 1.2 9.4 8.2
10 75 | 160 | 120 | 319 | 307 | 290 | 277 | 266 | 184 | 168 | 160 | 154 | 145 | 139 | 133 | 111 | 97
15 11 1170 150 49.1 472 446 427 40.9 28.4 25.8 24.5 236 223 21.3 204 17.1 149
20 15 1170 180 66.0 63.5 60.0 514 55.0 382 347 33.0 31.8 30.0 28.7 215 230 200
25 185 1170 220 80.3 712 73.0 69.8 66.9 464 423 40.2 38.7 36.5 349 335 219 243
30 22 1170 240 106.7 | 1026 | 970 928 88.9 61.7 56.2 534 514 48.5 464 44.5 371 323

P2




Motor spec for various type of pumps

sSei A AL M

e 8P| ~ (VA1) 1 | 2|8 B 712/ 10 [ 15| 20 | 30
4P 1/4 12 1| 2 | 3| 5 |7vz[{10]15|20[ 30|40 |40 |1/4|12] 1|2 3 5
Induction LW LW LW Lw [ Lw [ tw [ Lw | tw [ tw [ tw [ tw [ Lw [ Lw [ tw [ tw W tw LW
NOP W ' LW R
PA LW LW LW [ Lw | Lw | w [ Lw | Lw | LW LW LW Lw W
20L LW LW | Lw | Lw | Lw _ LW | LW LW
TFP LW LW LW | LW | Lw | Lw [ |
1A LW LW LW | LW | LW | Lw LW | LW | LW
TOP W oW W | w [ wlw/|w
4 LW LW LW | LW | LW | Lw | Lw | Lw LW | LW LW LW W
DS WoOLW LW | LW [ Lw | Lw [ tw | Lw | LW [ LW LW LW W
1P LW | LW | LW | LW | LW | LW | Lw | LW LW LW W
CFAT w o ow ow | ww | ww w|w|w | ww]| | [wiw w ow
30L W W LW LW tw [ w [ w [ tw [ tw | w [ w | w LW | LW LW LW W
PB W W | W w tw tw | w | w | w | w | w LW LW LW W
50T W LW LW tw | w |[w w|w | w | w /| w W LW LW LW W
PV2R2 LW [ LW | LW [ LW [ LW [ LW | W | W | W | LW w
T6C ' Lw | Lw [ Lw | tw | tw [ tw | w | w | w ' Lw W
VDC W [ Lw [ w [ww w|w [ w | w \
T6B w [w [ tw [ tw|w|w|w | w|w Lw W
wear | 1 T LW | Lw [ Lw |[tw | Lw | w | w | w |
T6D | [e===s lwiw/w/w|w|w|w] B
vaQ4s I I Twlwlw|w]w] |
Remarks:
1.1/4HP~40HP
2.L.=Vertical type W=Horizontal type
3.Pole:2P/4P/6P/8P
4.Phase:3-phase/Single-phase
El—-—
— &=
B e AH

f
o
- _@)/‘;I._ |

P3



L)
SY.

isvy AME R H Dimension of Pumps
Sy, 8

pump type %%ré%rlaé pump | ade o | CKey Dirgension - W I.FD Spén Instal[l-i o
NOP  AM55ANOP,TOP|  o5x9 ‘ ‘ 11 ‘ 30 45 | M6x1.0
ool VPE-FE2152024 VA1 0127x3175 142 19 36 | 08255 108 | MIOx1.5
VCM-SF-12/20 | ®12.7x3.175 143 | 19.05 365 & 08255 106 M10x1.5
TFP  TFP o12x3 | 136 | 25 40 | ©30 | 563 | Mex1.0 |
1A HSP-1A ©12x4 14 16 288 @30 UB4x64 M6x1.0
. TOP . o144 | 16 | 40 45 | 047 68 | M8x125
VVP-F8/12/15/20(%%)| ©15.875x4 | 17.7 ‘ 19 36 | 08255 106 | MIOX15
54 IG2F ©15875x4 = 17.73 34 59 ©8255 | qpg4 | M10X15 |
GE4-26 | 015.875x4 1772 | 34 315 | ©8255 | 10535 | M10x1.5

3AHP2 ©15.875x4 | 17.6 18 318 | ©8255 | 1054 | M10x15

. Ds DS,FB1 o16x5 | 182 | 185 28 70 08 M8x1.25
1P 1P ®17.46x5 = 19.6 40 50 | ©82.55 1064 | M10x1.5
I GSP2 A H @ 18x6 ‘ 20.5 45 55 © 80 71 _51100{511[ M8x1.25 .
BCP 1628 186 | 205 | 30 41 | 08255 | qo64 | M10K15
DEG4-26 D18x6 205 28 50 | ©8255 | 4pp35 | MI0X15 |
. GP2-85 x5 (©19.05x476 214 | 40 50 O70 |g53:a18MEL M8X125
' At VCM-1M,PV2R1 ©19.05x4.76 2124 | 25 445 | 08255 106 M10x1.5
vQ15 ©19.05x476 21.24 | 27 535 | 08255 106 M10x1.5

A16,A22FA1 |01005x4.76 2125 | 22 46 825 1063 | M10x15
VOM-SF-3040VPEF2530L) | ©19.05x4.76 | 21.4 22 37 | ©95.02 @ 090x90 | M10xi5

30L VD2 |©19.05x4.76 | 21.4 22 37 ®©95.02 @ o90x90 | M10x1.5
50T(019)  ©19.05x476| 214 | 25 50 | ®9% 090x90 | M10X1.5 |

PB  020x5 225 32 40 | 08255 108 M10x1.5
i IG3E  D20%6 205 30 41 | 01016 148 | M12x1.75
VCM-50T ®22x5 24 28 50 ©96 090x90 | M10x1.5

_ il 50T . 022x5 24 28 55 ©96 090x90 | M10x1.5
| PV2R2EE PV2R2(i&F5) ©22.2x4.76 247 50 60 ©101.6 146 M12x1.75
. TeC  A37, PV2R2 | ©22.2x6.35 25.08 35 585 | ©101.6 146 M12x1.75
- V23 V38 |©2223x6.35 2508 | 35 585 | ®1016 146 | M12x1.75
vQ25 02223635 2501 | 32 605 | 1016 146 | M12x1.75

VDC 45A | 025.4x4.76 276 38 78 | ©135 0124 | M12x1.75
PV2R2 | ©25.4%6.35  28.18 32 89 | ©101.6 146 | M12x1.75

T6B PV2R12VCM-12M | ©25.4x6.35 28.18 40 67 | ®1016 146 | M12x1.75
VCM-2M | 0254x6.35 28.48 | 32 50 | ©101.6 146 | M12x1.75

P 150T7L | o30x7 | 33 32 505 | ©160 187 | M12x1.75
150T7FL ©30x7 33 315 505 | ®160 187 | Mi2x1.75

IG5F ©31.75x7.94| 3533 | 50 85 | @127 181 | M16x2.0

VCM-3M PV2R3VCM-13M23M | ©31.75x7.94 | 35.32 40 75 ©127 181 | M16x2.0

T6D VQ35 ©31.75x7.94| 3532 | 46 75 | ®127 181 | M16x2.0
V50/V70 ©31.75x7.94 | 35.35 38 57 ®©127 181 | M16x2.0

VQ425 038.1x9.525 42.36 @ 50 857 | @127 181 M16x2.0

YD VQ45 ' ©38.1x0.525 4236 | 50 83 | @127 181 M16x2.0
. SVQ45 ©38.1x9.525 | 42.36 50 83 | ®152.4 1228 6x228.6 M20x2.75
SVQ435 ®A38.1x0.525  42.36 50 84 ©152.4 228 6x228.6 M20x2.75

P4




